RRB NTPC Reasoning Questions & Answers - Stage 2

1.289:17::961: 2
(a) 29

(b) 31

Answer: (b) - 31

2. What is represented by the number ‘1’?
(a) Unmarried placed graduate

(b) Married unplaced graduate

(c) Placed married graduates

(d) Married placed undergraduates
Answer: (c) - Placed married graduates
3.10, 29, 66, 127, ?

(a) 330

(b) 115

(c) 218

(d) 273

Answer: (c) - 218

4. TR:VX::MK:?

(a) QP
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(b) QR

(c) OP

(d) 0Q

Answer: (d) - OQ

5. 13, 25, 49, 85, ?

(a) 331

(b) 133

(c) 132

(d) 381

Answer: (b) - 133

6. Select the related word/letters/number from the given alternatives

97 :63::67:7

Answer: (c) - 42
7. If ‘cat’ And ‘boat’ Are Written As Xzg And ‘ylzg’ Respectively In A Code
Language How Is ‘egg’ To Be Written In The Same Language?

(a) Vss


https://www.freshersnow.com/

RRB NTPC Reasoning Questions & Answers - Stage 2

FRESHERS NOW
(b) Urr

(c) Vit

(d) Utf

Answer: (c) - Vit

8. In a certain code language, ‘kew xas huma deko’ means ‘she is eating apples’;
‘kew tepo qua’ means ‘she sells toys’ and ‘sul lim deko’ means ‘I like apples’.
Which word in that language means ‘she’ and ‘apples’?

(a) xas & deko

(b) xas & kew

(c) kew & deko

(d) kew & xas

Answer: C

9. Arrange the following words in a meaningful sequence.

1. Infection

2. Consultation

3. Doctor

4. Treatment

5. Recovery

(@1,3,4,5,2

(b)1,3,2,4,5


https://www.freshersnow.com/

RRB NTPC Reasoning Questions & Answers - Stage 2

FRESHERS NOW
()1,2,3,4,5

(d)2,3,5,1,4

Answer: (b)-1,3,2,4,5

10. Dinesh is a brother of Rahul. Ramya is the sister of Arjun. Rahul is a son of Ramya.
How is Dinesh related to Ramya?

(a) Nephew

(b) Father

(c) Son

(d) Brother

Answer: (c) - Son

11. Seismography: Earthquake:: Tachometer:?

(a) Landslides

(b) Strains

(c) Resistances

(d) Volcanoes

Answer: (b) Strains

12. Moon : Satellite : : Earth :?

(a) Sun

(b) Planet

(c) Solar System
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(d) Asteroid

Answer: (b)

13. TER_TE_S_ER_

(a) TERT

(b) STTT

(c) STRS

(d) SRTS

Answer: (d) - SRTS

14. In the following question, select the odd word from the given alternatives.
(a) Lemon

(b) Carrot

(c) Beetroot

(d) Turnip

Answer: (b), (c), (d) - Except lemon, rest three grows under the ground.

15: Paw : Cat : : Hoof : ?

(a) Horse

(b) Lion

(c) Lamb

(d) Elephant

Answer: (a) - Horse
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16. Errata : Books : : flaws:?

(a) Manuscripts

(b) Metals

(c) Speech

(d) Charter

Answer: (b) - Metals

17. How many pairs of letters are there in the word COMPLAINT, each of which have as
many letters between then in the word as they have between then in the English
alphabet?

(a) One

(b) None

(c) Two

(d) Three

Answer: (d) - Three

18. In a certain code language,

‘Attend class daily good’ is written as 9$5, 24%9, 3%$6, 24*3
‘Less error and fire’ is written as 10$7, 23%8, 9%14, 24&3
‘Begin great any matter is written as 3&3, 8%9, 10*15, 14%4
‘Tool better than screw’ is written as 16%22, 5$21, 10*4, 14%22
The code for the word * great’

(a) 3&3
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(b) 8%9

(c) 1015

(d) 14%4

Answer: (b) - 8%9

19. Capital of Nagaland is
(a) Dimapur

(b) Kohima

(c) Mokokchung

(d) Tezpur

Answer: (b) - Kohima

20.Y2:4::V2:7

Answer: (d) - 25
21. Conclusion:

All monkeys being aero planes is a possibility. All notes being aero planes is a
possibility

Statements:
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e Statements — 1: All monkeys are notes. No note is a drum. All cars are notes. All
drums are aero planes.

e Statements — 2: Some monkeys are notes. No note is an aero plane. All cars are
drums. All drums are aero planes.

e Statements — 3: Some monkeys are notes. No note is a drum. All cars are notes.
All drums are aero planes.

e Statements — 4: All monkeys are notes. No note is an aero plane. All cars are
drums. All drums are aero planes.

e Statements — 5: All monkeys are notes. No note is a drum. All cars are drums. All
drums are aero planes

(a) Only Statements —1 & 3 &5

(b) Only Statements -2 & 3 & 4

(c) Only Statements — 3

(d) Only Statements —4 & 5

Answer: (a) - Only Statements —1 & 3 &5

22. Arun walks 60 miles in the direction of west then he turns to his right and walks
further 11 miles, how far is he exactly from the starting point (in miles)?

(d) 41
Answer: (b) - 61

23. If 'l need water’ is coded as ‘kher der ni’ and ‘Do you need Apple’ is coded as ‘kher
fer ka da’, then ‘kher’ is code of?

(a) Need
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(b) Apple

(c)!

(d) None of these

Answer: (a) - Need

24. Which of the following means that N is the maternal uncle of M?
@N9C7F3M

(b)NS5Y7A9M

(c)N9PS5L7ES5M

(d) None of these

Answer: (c)-N9PSL7ES5M

25. Agra : Yamuna : : Varanasi : ?

(a) Damodar

(b) Betwa

(c) Ganga

(d) Son

Answer: (c) - Ganga

26. Which number will fit both the series of numbers?

Series A: 1,4, 9, ......

Series B: 1, 8, 27, ......

(a) 42
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27. Bindu is standing exactly in the middle of a line of girls. Asha is 6 th to the left of

Bindu and Ritu is 16 th to Bindu's right.
What should be the minimum number of girls in the line?

(a) 27

Answer: (d) - 33

28. Window is to pane as book is to
(a) novel

(b) glass

(c) cover

(d) page

Answer: (d) - Page

29. Assertion (A): | came late today.

Reason (R): It was raining.
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(a) If both A and R are true and R is the correct explanation of A.

(b) If both A and R are true and R is not the correct explanation of A.

(c) If Ais true but R is false.

(d) If A'is false but R is true.

Answer: (a) - If both A and R are true and R is the correct explanation of A.

30. Statement: Should non-vegetarian food be totally banned in our country?
Arguments:

1. Yes. It is expensive and therefore it is beyond the means of most people in our
country.

2. No. Nothing should be banned in a democratic country like ours.
(a) Only argument | is strong

(b) Only argument Il is strong

(c) Either | or Il is strong

(d) Neither | nor Il is strong

Answer: (b) - Only argument Il is strong

31. In each question, a pair of words is given, followed by four pairs of words as
alternatives. The candidate is required to choose the pair in which the words bear the
sane relationship to each other as the words of the given pair bear. Arrows: Quiver

(a) Fear: Tremble
(b) Money: Bank

(c) Sound: Music
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(d) Coin: Mint

Answer: (b) - Money: Bank

32. Statements: No stone is metal. Some metals are papers. All papers are glass.
Conclusions:

|. All stones being glass is a possibility.

II. No stone is paper.

(a) If only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or conclusion Il follows.

(d) If neither conclusion | nor conclusion Il follows.

(e) If both conclusion | and conclusion Il follow

Answer: (a) - If only conclusion | follows.

33. RQP, ONM, _, IHG, FED, find the missing letters.

(a) LKJ

(b) CDE

(c) LKI

(d) BAC

Answer: (a) - LKJ

34. If you are a fitness walker, you don't need to go to a health gym. You also don't
need any fitness equipment for the workout. All you need is a pair of comfortable
athletic shoes. https://www.freshersnow.com/previous-year-question-papers/
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This paragraph supports which of the following statements;

(a) Fitness walking is better than weight lifting

(b) Fitness walking is an effective and convenient form of exercise

(c) Walking outdoors provides more health benefits than walking indoors

(d) Poorly designed shoes can cause foot injuries

Answer: (b) - Fitness walking is an effective and convenient form of exercise
35. Which word is the odd man out?

(@) trivial

(b) unimportant

(c) important

(d) insignificant

Answer: (c) - important
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